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Ideals for irreducible component#ﬂ)f Xpar

I = (™ —u*? 4 fu—1)

* 1 irreducible components of dim¢ = 0, with total 53 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LIM=(u—u2+..-4+u—1)

(i) Arc colorings

1
a2 = \ 0
1
a1l = U2
—u
as = \ —ud +u
—u? 41
a0 = \ —ut + 202
ud —2u
as = \u® —3ud+u
ut —3u?+1
ag = —ut + 2u?
ud —5ub + Tut —2u2 4+ 1
ay = —u8 4 4ub — 4yt
u'® — 9u'* + 31u'? — 5060 + 39u® — 22u8 + 18u* — 4u? + 1
az = \¢!® — 1000 + 390 — 74u!? + 71019 — 40u® + 26u8 — 12u* + u?
u'? — 7ul® + 17u® — 16u® + 6u* — bu? + 1
ag = —ul2 4 600 — 1208 + 8ub — u* + 22
u?® — 166" + - —8u® —u
a3 = \ —u® + 150" + - —u® +u
—uft 4+ 25ut 4 — 4 + 1
ar = \ —u® +26u?0 + .- + 4uC + 202
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®" + 108u*® + -+ +4u + 6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ w3 —13u”? + ... —5lu+3
Ca, Cg, C7 w4 Ut —u—1
€3 uB —uS? 4+ —3u—5
C4,C5,C 5
45 €5, €10 u53_u02+_._+u_1
C11
cs, Cg, C12 W+ T+ +8lu+ 7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
gl y*? +3y°% + - =393y — 9
Ca, C6, C7 YO ATy 3y — 1
€3 y*3 —5yP? ... — 221y — 25
C4,C5,C10 y53_57y52++3y_1
C11
Cg, C9, C12 y53 +51y52 4+ -+ 247y — 49




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.548575 4 0.6336731

—1.51521 — 10.000101

2.58535 + 7.985391

u = —0.548575 — 0.6336731

—1.51521 + 10.000101

2.58535 — 7.985391

u = 0.535266 + 0.6350341

—6.68651 + 6.224641

—2.12914 — 7.042001

u= 0.535266 — 0.6350341

—6.68651 — 6.224641

2.12914 + 7.042001

u = —0.512310 + 0.6319691

—4.69465 — 2.298031

0.49220 + 2.275611

u = —0.512310 — 0.6319691

—4.69465 + 2.298031

0.49220 — 2.275611

u = —0.487905 + 0.637564.1

—4.76749 — 1.999071

0.17746 + 4.074911

u = —0.487905 — 0.6375641

—4.76749 + 1.999071

0.17746 — 4.074911

u = 0.464669 + 0.6476061

—6.89567 — 1.889351

—2.89485 + 0.795761

u = 0.464669 — 0.6476061

—6.89567 + 1.889357

—2.89485 — 0.795761

u = —0.449493 4 0.6518101

—1.80864 + 5.657161

1.70059 — 1.941251

u = —0.449493 — 0.6518101

—1.80864 — 5.657161

1.70059 + 1.941251

u = 0.504505 + 0.5671771

1.97412 + 1.941331

4.71944 — 3.767841

u = 0.504505 — 0.5671771

1.97412 — 1.941331

4.71944 + 3.767841

u= 0.652033 + 0.3294641

5.34002 + 6.281281

8.12896 — 8.546101

u= 0.652033 — 0.3294641

5.34002 — 6.281281

8.12896 + 8.546101

u = —0.687986 + 0.1569121

6.28732 + 1.582981

11.28727 4- 0.731541

u = —0.687986 — 0.1569121

6.28732 — 1.582981

11.28727 — 0.731541

u = —0.591945 4 0.3182761

0.12349 — 3.232671

3.04126 + 9.496751

u = —0.591945 — 0.3182761

0.12349 + 3.232671

3.04126 — 9.496751

u= 0.372482 4 0.4395491

1.98957 + 1.520971

1.80190 — 4.436551

u= 0372482 — 0.4395491

1.98957 — 1.520971

1.80190 + 4.436551

u= 0.541460 + 0.1689291

1.006470 + 0.4107351

8.40701 — 1.417791

u = 0.541460 — 0.1689291

1.006470 — 0.4107351

8.40701 + 1.417791

u= 1.45482 3.97144 0
u = —1.45391 4 0.051931 7.75885 — 3.052401 0
u = —1.45391 — 0.051931 7.75885 + 3.052401 0
uw= 147881+ 0.191651 4.44453 — 2.648291 0
u= 147881 —0.19165] 4.44453 + 2.648291 0
u = —1.49019 + 0.192961 —0.532397 — 1.1152701 0




Solutions to I} V—=1(vol + /=1CS) Cusp shape
u = —1.49019 — 0.192961 —0.5632397 4 1.1152701 0
u= 1.50599 + 0.193001 1.75894 + 4.979781 0
u = 1.50599 — 0.193001 1.75894 — 4.979781 0

u = 0.107192 + 0.4668061 3.69238 — 3.526631 1.88659 + 2.633381
u= 0.107192 — 0.4668061 3.69238 4 3.526631 1.88659 — 2.633381

u= 1.52075+ 0.192271 1.99021 + 5.267751 0

u= 1.52075—0.192271 1.99021 — 5.267751 0

u = —1.562792 + 0.167781 8.71759 — 4.575991 0

u = —1.562792 — 0.167781 8.71759 + 4.575991 0

u = —1.54203 + 0.048301 8.05739 — 1.205671 0

u = —1.54203 — 0.048301 8.05739 + 1.205671 0

u = —1.53145 + 0.197021 0.12630 — 9.242281 0

u = —1.53145 — 0.197021 0.12630 + 9.242281 0

u= 153796 + 0.197401 5.37483 4 13.023001 0

u= 1.53796 — 0.197401 5.37483 — 13.023001 0

u = 1.54965 + 0.076231 7.32443 4 4.590161 0

u = 1.54965 — 0.076231 7.32443 — 4.590161 0

u = —1.56535 + 0.080541 12.8092 — 7.71281 0

u = —1.56535 — 0.080541 12.8092 + 7.71281 0

u= 1.56726 + 0.038721 13.86820 — 0.899971 0

u= 156726 —0.038721 13.86820 + 0.899971 0

u = —0.176376 + 0.389345]

—1.109150 4 0.7066451

—4.66602 — 1.449091

u = —0.176376 — 0.3893451

—1.109150 — 0.7066451

—4.66602 + 1.449091




II. u-Polynomials

Crossings u-Polynomials at each crossing
“ u® —13u%% + - —5lu+3
C2,Ce, CT WP -1
C3 u53 u02+” _3u—5
C4,C5,C
4,5, €10 53 u52++u_1
C11
Cg,C9, C12 ud3+7u‘)2+...+81u+7




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 Yo +3y°2 + .- —393y — 9
C2,C6,C7 Y+ 4Ty 4+ 3y — 1
€3 Yo — B5yP? + ... — 221y — 25
€4, Cs5,C10 y53—57y52+~--+3y—1
C11
cs, Cy, C12 yP3 + 51y + - 4 24Ty — 49




